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BACHELOR OF SCIENCE (GENERAL) 

(BSCG) 

Term-End Examination 

December, 2024 

BBYCT–135 : PLANT ANATOMY AND 

EMBRYOLOGY 

 Time : 2 Hours    Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 

four questions from Question Nos. 2 to 7. 

Draw well labelled diagram, wherever 

necessary. 

1. (a) State whether the following statements are 

True or False : 1
2 ×4=2 

(i) A perforation plate is the contact area 

of two adjacent plates. 
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(ii) Promeristem gives rise to primary 

meristem. 

(iii) The outmost layer of the ground tissue 

of the root develops and differentiates 

as endodermis. 

(iv) Trichoblasts are root hair initials. 

(b) Fill in the blanks : 1×3=3 

(i) No free nuclear stage is seen in ........... 

type of endosperm. 

(ii) Synergids play an important role in 

the entry of the ............ in the embryo 

sac. 

(iii) The pollination of the flowers assisted 

by snails is known as ............. . 

(c) Define the following terms : 1×5=5 

(i) Pollen Kit 
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(ii) Apospory 

(iii) Barriers to fertilization 

(iv) Endosperm with Chalazal Haustoria 

(v) Commercial Cork 

2. (a) Explain the Tunica-Corpus Theory. 5 

(b) Describe Dicot and Monocot roots with 

diagram. 5 

3. (a) Explain the economic importance of  

wood.  5 

(b) Briefly explain the structure and function 

of different types of Trichomes. 5 

4. (a) Explain the process of insect pollination. 

Describe the waggle dance of the bees and 

its importance. 5 

(b) Describe the genetic regulation of embryo 

development. 5 
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5. Describe the various types of cambial variants 

in stem and roots with labelled diagram. 10 

6. Differentiate between any two of the following : 

5×2=10 

(i) Primary and secondary root 

(ii) Heteromorphic and Homomorphic 

incompatibility 

(iii) Nuclear male sterility and Cytoplasmic 

male sterility 

7. Write short notes on any four of the following : 

2½×4=10 

(i) Triple fusion 

(ii) Polygonum type embryo sac 

(iii) Polyembryony 

(iv) Aril 

(v) Lenticels 
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      BBYCT–135 

foKku Lukrd (lkekU;) 

(ch- ,l&lh- th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-ch-okbZ-lh-Vh--135 % ikni 'kkjhj vkSj Hkwz.kfoKku 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 7 rd 

ls fdUgha p kj iz'uksa ds mÙkj nhft,A tgk¡ dgha 

vko';d gks] ogk¡ lqukekafdr fp=k cukb,A 

1- (d)  crkb, fd fuEufyf[kr dFku lR; gSa ;k 

vlR; % 1
2×4=2 

  (i) fNæ.k iV~Vh nks lehiorhZ ifÍ;ksa ds chp 

dk lEidZ {ks=k gksrk gSA 
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  (ii) izkd~foHkT;ksrd@izksesfjLVse izkFkfed foHkT;ksrd@ 

esfjLVse dks mRiUu djrk gSA 

  (iii) tM+ ds Hkj.k Ård dh lcls ckgj okyh 

ijr var'Ropk@,.MksM£el ds :i esa 

fodflr vkSj foHksfnr gksrh gSA 

  (iv) jksedksjd@VªkbdksCykLV ewyjkse vkjEHkd gksrs 

gSaA 

([k)  fjDr LFkkuksa dks Hkfj, % 1×3=3 

 (i) ---------------- izdkj ds Hkwz.kiks"k esa dksbZ eqDr 

dsUædh voLFkk ugha fn[kkbZ nsrh gSA 

 (ii) lgk; dksf'kdk,¡@flujftM~l Hkwz.kdks'k esa  

---------------- ds izos'k esa egRoiw.kZ Hkwfedk 

fuHkkrh gSaA 
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 (iii) ?kksa?kksa dh lgk;rk ls gksus okyk iq"iksa dk 

ijkx.k ---------------- dgykrk gSA 

(x) fuEufyf[kr inksa dks ifjHkkf"kr dhft, % 1×5=5 

 (i) ijkx fdV@iksyu fdV 

 (ii) vichtk.kqrk 

 (iii) fu"kspu ds vojks/ 

 (iv) dSykt+h pw"kdkax okyk Hkwz.kiks"k 

 (v) O;kolkf;d dkWdZ@dkx 

2- (d)  V~;wfudk&dkWiZl fl¼kUr dks le>kb,A 5 

([k)  f}chti=kh vkSj ,dchti=kh tM+ksa dk lfp=k 

o.kZu dhft,A 5 

3- (d)  dk"B@ydM+h ds vk£Fkd egRo dks crkb,A 5 

([k)  fofHkUu izdkj ds Ropkjkseksa (Vªkbdkse) dh 

lajpuk vkSj dk;Z dk laf{kIr o.kZu dhft,A 5 
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4- (d)  dhV ijkx.k dh izfØ;k dk o.kZu dhft,A 

e/qefD[k;ksa ds okWxy u`R; vkSj mlds egRo 

dk o.kZu dhft,A 5 

([k)  Hkwz.k fodkl ds thuh fu;a=k.k dk o.kZu  

dhft,A 5 

5- ruksa vkSj tM+ksa esa fofHkUu izdkj ds dSfEc;eh 

ifjo£r;ksa dk lqukekafdr fp=kksa ds lkFk o.kZu  

dhft,A   10 

6- (d)  fuEufyf[kr esa ls fdUgha nks ds chp vUrj 

crkb, % 5×2=10 

  (i) izkFkfed vkSj f}rh;d tM+ 

  (ii) fo"ke:ih vkSj le:ih vfu"ksP;rk 

  (iii) dsUædh ujcaè;rk vkSj dksf'kdkæO;h 

ujcaè;rk 
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7- fuEufyf[kr esa ls fdUgha pkj ij y?kq fVIif.k;k¡

fyf[k, %   21
2×4=10

(i) f=klay;u

(ii) iksyhxksue izdkj dk Hkwz.k dks"k

(iii) cgqHkwz.krk

(iv) chtpksy (,fjy)

(v) okrja/z (ysUVhlsy)

× × × × × × × 
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